(24x)s (H) =0 =(aclx), (H) but (adx) =ed
s " = ond L/Q_Z_
(Mlx),‘ = &an ) y resulls on als‘fnc; Tor;:u :/eeon/, *

$0 XS,XnéC.

Stcf@?ﬁll ss. elts of C orein H. TFXisss.
in C then HtFx s sn bbel, farJIuL:? O'f[.

(sum ot commuing 5.5, €(Ls 1S 5.5.). Bul H wos mdX,
'l'ov‘af swbalg so “HEtFX =H So XEH.
5fcp@¢K’H’f/xH-’iF is nonde- fu”o.re K(h,H)-?p




St‘P@" é_,':‘_ﬂ!;l. Ifx€C isss CouXef )63
? br S'ﬂf@ 5o Mx :C>C 1sThe 2ew ms/a I$ m‘lf.

Tf x&C isnilp. Don ady (¢ is nidp.
For ony X€C white X=kth, vhee K K 6C by STep O,

MX=MK,+‘J&\: C—=>( is5sum of Two JOMM&?‘h‘;j nil,a.
ofom:fm 50 odx 8 nillp. By Eujcf's A Cis n,‘#,
step ®: Hnltcl=0. k(4 Lec]) x(lhelc)s
(0,010 50 Vxelalc el K(Hx)=0 gives x>0 by

51::,)@.
step :C 1 shelians If no?, [G¢] #0, 50 Crilp
Step (D gives 2(¢)n [¢¢] #0 ([emna " p. /3

From
6T Huu']ncyj, Let O +ee2(C)n [¢c], ITe were

6.5, Dunm by Shf@, }éH, co»fru(iafﬁ. Step ©.
So Z=5th withn#0 (nslf_,na(l') snd hZC::fS}‘cf@,




- C Peree . .
By Tordow .Dcam.f, edyp s d poly M eda but of, 2/6
é,d“as O o~ C g)/hee T6 2((6/> So M,: also &&;563 09

o~ C, nesning 1 e 2(c). Apply The lemmy o g
k(", C)=0, a contrd; t'fimf v KICxc Mm/e]en,

St : C =R . Ifnot 30#‘)(6( x nilp. Grom
‘P@ @/wekdrc

Steps O o~ A Q). By lemwe ond Sfa’p
Vrré C, Kx,y)> Trodg>ady)=© contrdicls Thot

ﬁtab 1% non-:djj. 0
Cor: K, He#=F 15 non-deg.
i Nofe: K =HKH—7F nau-olcj, meéons we Mve L LS m

between Hond HX. 4’6:‘/‘; 3!t¢,6ﬁ s. 8
(N =K(tp h) VhEH. el define 8:6H

by ®c(h) =k(ER), VheHt.




orthegonslity Properties : 165
Poop (@ & spons H™ (b) Tfx€ & Do —x 6@

(C) Le‘f‘ N é, X &Lo('yé[-ﬂ . 72“'- [KJY.I:K{Xo/)t«

() Df < €& thon dim ([Ly,Lu)] wilhbusis Tu.
©) b((‘t.() =K(fu,'f.g) 0 WYwe@

&) Vu(éflVO #lu€lo, 3 )’-(d-o( . T. {x*, Y,
h“=£xd‘ Y,JI 15 a basis o 'F LS SFMf/Q IuLd/j. of L
som. t al(2 F) by R [2¥, 7«“[?00],&"’ 03]

= Ztu& “A R
(7) hy m ** hy "o;, "
FT+<E)#H Cam 20 +theH st.x(h]=0,
&&(g‘so [<‘\,L¢]=0,V'(5;. L=Ho;?}l"‘ as.JD,')dao
so [hL]=0 soys he2(L) contradicts L ss.




{(L) let €8 but -« Yy

| - ¢} 301.-“""’0_ Teaw K '3

Vﬂéd* S K(Ld,L)"O cotradicts Kk na\-(dl‘;?")_em
Q) ot «e§ xeluw, yeloo,h eH. Then
K(w, [x01) <K (AT y) = ) Kk(x,y) =k (Zq,
= K(K(K,Y)fnl, l\) =K(l’\, K(xo}')td) . Jo [K,}']‘K(K:I‘)t« éﬁ
is orlhey to oll of H. Klyxn mn'lcj. i-uf/ies it is O.

| (d) From (), LLu,L-.g] =<‘t.¢> £ jtis F0. Fordy

o#xelt.g € k(% Log)=0 Do k(x L) =0 eortndicls

K nondeq., S0 50-‘#)/6'4‘( s.C. K(x.ﬂ £0. From K]

- [%,Y) =:(1(;,y)t',( $0, 50 Av ol
@) Seppose w(tg)=0 5o [tu, x]=0=[te,y] Vxels
Vyel-,\ . Can ‘Fhﬂl Somb SMA X uJ/ w.‘D\K(x'y)aj
so [X,7] = ta - The :Jsfate §= <X, 7'1‘.‘,() isa 3-din'l

I solveble Lie tulo/,. ot L.

J—




T(n—i;w{ L= go(L) (infective since Liss.5.) [167
the Image ad () B ot Vg e [5.57 =<t L
hilf. I:r Cor. o Lie's p\m.(ﬁum’a‘ﬁfx,f.lé). Bu
'tggGH mConS M{-t* s $.6S. uwell ¢S m‘ff, S$o M&=0
[t«, L]=0, tu e2(L) =0, contradieliom.

; é(i) For = € ¢ given O#X“él«' 3 )',(é[_,( 5. ¥.

K (%, 1) = o oy S (€) holds, and H(Xul-u) #0

Let hy= 2o 5o from &), [Xe, V] =he . Alse,

K(te, tw) ['t
U\-&.X*] = (he) ¥ © )7;(;_: ‘t:)) Xe =2 Xu ond

[he, Yu] =27« . So <X, Y, ha? =442 F)
() ha was Jefined in &) 50 how = 2T/t o ty)
‘ bt K(f-.('l\)hu((‘t) "k(‘td,'\) Seys ‘f-.(-""t‘.(, 1§ J




